2.2 Polynomial Functions of Higher Degree and factoring sum-diff cubes 2023.notebook 3



Sep 18-6:32 AM



Feb 2-9:51 PM



Sep 18-6:35 AM



Sep 26-8:09 AM



Sep 26-8:10 AM





Sep 26-8:32 AM



Sep 26-8:37 AM



Sep 19-6:12 AM



Aug 22-8:33 AM

3



Sep 19-6:02 AM



A CONTRACTOR OF THE OF
GO COUGARS!
Homowork Quantiona
In Exercises 23–32, find all the real zeros of the polynomial function. Determine the multiplicity of each zero. Use a graphing utility to verify your result.
23. $f(x) = x^2 - 25$ 24. $f(x) = 49 - x^2$
25. $h(t) = t^2 - 6t + 9$ 26. $f(x) = x^2 + 10x + 25$
27. $f(x) = x^3 + x - 2$ 28. $f(x) = 2x^2 - 14x + 24$
29. $f(t) = t^3 - 4t^2 + 4t$ 30. $f(x) = x^4 - x^3 - 20x^2$
In Exercise 66–68, sketch the graph of a polynomial func- tion that satisfies the given conditions. If not possible, explain your reasoning, (There are many correct answers.)
65. Third-degree polynomial with two real zeros and a negative leading coefficient
66. Fourth-degree polynomial with three real zeros and a posi- tive leading coefficient
67. Fifth-degree polynomial with three real zeros and a positive leading coefficient
 Fourth-degree polynomial with two real zeros and a nega- tive leading coefficient
In Exercise 69–76, Adach the applied of the function by (a) applying the Leading Coefficient 7 and 10 million the array of the physical Leading the Array of the Array of the Physical Leading the Array of the
69. $f(x) = x^3 - 9x$ 70. $g(x) = x^4 - 4x^2$
71. $f(x) = x^3 - 3x^2$ 72. $f(x) = 3x^3 - 24x^2$
73. $f(x) = -x^4 + 9x^2 - 20$ 74. $f(x) = -x^4 + 7x^3 + 8$
$(s_1, (t_1 - x + x_0 - y_0) - z_0)$
tion. Identify any symmetry with respect to the x-axis, y- axis, or origin. Determine the number of x-intercepts of the
graps. $g^{2}(x) = -2(x + 6)$ $g^{2}(x) = -2(x - 6)^{2}$
85. $f(x) = x^{-1}(x + 0)$ 84. $h(x) = x^{-1}(x - 4)^{-2}$
$86, g(x) = \frac{1}{2}(x + 1)^2(x - 3)^3$
87. $f(x) = x^3 - 4x$ 88. $f(x) = x^4 - 2x^2$
89. $g(x) = \frac{1}{3}(x+1)^2(x-3)(2x-9)$
107. (a) $f(x) = (x - 1)^2(x + 2)^2$ (b) $f(x) = (x - 1)(x + 2)$ (c) $f(x) = (x + 1)^2(x - 2)^2$
(d) $f(x) = -(x-1)^2(x+2)^2$ (c) $f(x) = -(x+1)^2(x-2)^2$ x

Feb 2-9:51 PM